
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

اضرب الكسور العشرية بالقوى السالبة للعدد عشرة

5355٫2 × 0.0001 = ________ 9477٫2 × 0.0001 = ________

6170٫5 × 0.1 = ________ 5824 × 0.001 = ________

7998٫2 × 0.0001 = ________ 2345٫7 × 0.0001 = ________

9727٫3 × 0.01 = ________ 8972٫4 × 0.0001 = ________

9321 × 0.0001 = ________ 9433٫7 × 0.01 = ________

2971٫1 × 0.01 = ________ 9700٫6 × 0.001 = ________

8767٫1 × 0.1 = ________ 1955٫9 × 0.0001 = ________

2125٫1 × 0.01 = ________ 3765٫6 × 0.0001 = ________

6880٫5 × 0.1 = ________ 3356٫2 × 0.01 = ________

1209٫8 × 0.01 = ________ 7838٫2 × 0.1 = ________
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اضرب الكسور العشرية بالقوى السالبة للعدد عشرة

5355٫2 × 0.0001 = 0.53552 9477٫2 × 0.0001 = 0.94772

6170٫5 × 0.1 = 617.05 5824 × 0.001 = 5.824

7998٫2 × 0.0001 = 0.79982 2345٫7 × 0.0001 = 0.23457

9727٫3 × 0.01 = 97.273 8972٫4 × 0.0001 = 0.89724

9321 × 0.0001 = 0.9321 9433٫7 × 0.01 = 94.337

2971٫1 × 0.01 = 29.711 9700٫6 × 0.001 = 9.7006

8767٫1 × 0.1 = 876.71 1955٫9 × 0.0001 = 0.19559

2125٫1 × 0.01 = 21.251 3765٫6 × 0.0001 = 0.37656

6880٫5 × 0.1 = 688.05 3356٫2 × 0.01 = 33.562

1209٫8 × 0.01 = 12.098 7838٫2 × 0.1 = 783.82
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